1000

| Entries 9446
B Mean 223.5
= RMS 5.705
800 Constant 711.1
B Mean 223.4
B Sigma 5.529
600 —
400 |
200 —
O _l | | | | | Lo |
200 220 240
Energy (mJ)
= Entries 9446
900 = Mean 0.1144E+05
- RMS 4.798
800 - Constant 665.3
700 — Mean 0.1144E+05
- Sigma 4.781
600 [
500 |-
400 F
300
200
100
0 - 1 | 1 1 1 1 | 1 1 1 1 | Il 1 |
11420 11430 11440 11450 11460

YLF

Pulse Center (ns)

Laser3

2500

2000 —

1500

1000 —

500 —

Entries 9446
Mean 132.1
RMS 5.648
Constant 2191.
Mean 132.1
Sigma W 5.444

100

FWHM (ns)

150




Ti1:S Laser3

1000

__ Entries 9446 1200 Entries 9446
| Mean 0.1339 — Mean 37.08
| RMS 0.2211E-02 B RMS 0.7348
800 Constant 673.1 1000 Constant 852.1
— Mean 0.1338 B 37.09
B Sigma 0.1962E-02 L 0.7272
B 800 |~
600 -
i 600 |-
400 N
- 400
200 |- 200 -
O | | | | | | | | | | O _I | | | 1
0.13 0.135 0.14 34 36 38 40
Energy (mJ) FWHM (ns
= Entries 9446 12000 [ Entries 9446
800 = Mean 0.1179E+05 = Mean 20.00
u RMS 4.131 : RMS 0.1078E-06
700 = Constant 640.7 10000 Constant 0.1398E+09
E ean 0.1179E+05 B [ Mean 14.00
600 — %ma 4.074 = Sigma 0.1078E-06
g 8000 [~
500 | i
400 |- 6000 [~
300 £ 4000 |-
200 N
n 2000 —
100 | N
:I 1 J- | | | | | | | | | | 0 B 1 1 1 | 1 1 1 1 1 1 | 1 1 1
11780 11790 11800 11810 19.9 19.95 20 20.05 20.1

Pulse Center (ns) Current (A)



Mean

RMS (%)

226
225.5
225
224.5
224
223.5
223
222.5
222

2.7

2.6

2.5

2.4

2.3

2.2

2.1

Laser3 Pulse Energy History

o IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

o
ol

10 15
Time (hours)

ean

=

RMS (%)

0.135
0.1348
0.1346
0.1344
0.1342

0.134
0.1338
0.1336
0.1334
0.1332

=
©

1.85
1.8
1.75
1.7
1.65
1.6
1.55
15

oI|III|III|III|III|III|III|III|III|II|II

o
(63}

10 15
Time (hours)



Laser3 FWHM History

[ » c —
S 1000 - S sl
132.8 |- 73
2 : 2 373 :
132.6 - — 372 |
132.4 -
- 37.1 —
132.2 - -
i 37 —
132 N [
[ — 36.9
131.8 |- -
131.6 |- 368

- 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | _ 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |

0 5 10 15 0 5 10 15

YLF Laser Ti:SLaser
: ] 0.825 |- [ ]

X e75F o g
= 0.8 F
6.5 -
= 0.775
6.25 »
- 0.75
6 :
5 75 ;_ 0.725 E_
55 _—J_I_I_I_I: 0.7 F
- _ 0.675 3
= 0.65 -

5 __ 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | C 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |

0 5 10 15 0 5 10 15

Time (hours) Time (hours)



%1440.5
Q

= 11440

11439.5
11439
11438.5

11438

e = o o
N B (o] (o¢] ol N BN
o LI L L N L N B IR R R

N

oIII|II|II|IIII|IIII|IIII|IIII|

Time (hours)

— 11797

c

ég 11796
11795
11794
11793
11792
11791

11790

RMS

4.4

4.2

3.8

3.6

Laser3 Pulse Center History

o II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

5 10 15
Time (hours)



Mean (A)

RMS (A)

20.1
20.075
20.05
20.025
20
19.975
19.95

19.925

X 10

0.16

0.14

0.12

0.1

0.08

0.06

0.04

Current History

» O

o

14 16
Time (hours)





